
Total Number of Questions : 100 Time���75 Minutes

Maximum Marks : 100

INSTRUCTIONS TO CANDIDATES

1. The Question Paper will be given in the form of a Question Booklet. There will be four versions of
Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

2. The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet of the
Question Booklet.

3. The Question Booklet Alpha Code allotted to you will be noted in your seating position in the
Examination Hall.

4. If you get a Question Booklet where the alpha code does not match to the allotted alpha code in the
seating position, please draw the attention of the Invigilator IMMEDIATELY.

5. The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Question Booklet is un-numbered, please get it replaced by new Question Booklet with same alpha
code.

6. The Question Booklet will be sealed at the middle of the right margin. Candidate should not open the
Question Booklet, until the indication is given to start answering.

7. Immediately after the commencement of the examination, the  candidate should check that the
Question Booklet supplied to him/her contains all the 100 questions in serial order. The Question Booklet
does not have unprinted or torn or missing pages and if so he/she should bring it to the notice of the
Invigilator and get it replaced by a complete booklet with same alpha code. This is most important.

8. A blank sheet of paper is attached to the Question Booklet. This may be used for rough work.

9. Please read carefully all the instructions on the reverse of the Answer Sheet before marking
your answers.

10. Each question is provided with four choices (A), (B), (C) and  (D) having one correct answer. Choose
the correct answer and darken the bubble corresponding to the question number using Blue or Black
Ball Point Pen in the OMR Answer Sheet.

11. Each correct answer carries 1 mark and for each wrong answer �1/3�mark will be deducted. No
negative mark for unattended questions.

12. No candidate will be allowed to leave the examination hall till the end of the session and without
handing over his/her Answer Sheet to the Invigilator. Candidates should ensure that the Invigilator
has verified all the entries in the Register Number Coding Sheet and that the Invigilator has affixed
his/her signature in the space provided.

13. Strict compliance of instructions is essential. Any malpractice or attempt to commit any kind of
malpractice in the Examination will result in the disqualification of the candidate.

A

 052/2017-K

Question  Booklet
�� Serial Number

Question  Booklet

Alpha Code

����������



A -2-

052/2017-K ����������



A -3-

���������� 052/2017-K

1. ���������	
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���		������	����	��������
���	������	��������	���	�
A) ������� B) � ��!�
C) "�#��� � D) ��$
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C) ���#
���. D) ��'G��
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�	0�#B��������	
����	�
A) H5	6��5 �.I�� ���� B) ��5	J��K�5 ����L(
C) H5	J��5 ���� D) M5	J��5 ���&���	����

5. 6N14	����?�����%��	������O��	�� �P
�	F��(Q	B�)�=����	,��I�R�S�.���	�����L��	
���	����R"�M
�O0��)�=��	�
A) 86 B) 83

C) 73 D) 74

6. "��?���.G����		"��F/0����	0����
�	
�����	6��.E������)�=��	�
A) 12	��.���� B) 11	��.����
C) 9	��.���� D) 10	��.����

7. A��$L)���	D	T��	0�:�����	
���	��,'������	�
A) U)�=��	"�����<� B) U)�=��V. �
C) ,����W	���)��=	��FW��� D) T���9�#	"�����<�

8. 2016	����		H�X��	9�. �������)������/	AA����?DD	J.���	B�0��X���R	
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C) ���
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9. ���������	"��X �.��	6%	 ������P		Y�."�	�����	������	0�.Z�'	J���:	�
A) 45 B) 43

C) 44 D) 46

10. E���)���	�����#	M
Y��	���)��=	���������T)�	"��.)�'	�C���	"�����<�
A) �����
�. B) �Y:"�M
C) ����)�.�� D) �� ��.��
�.

11. AA��������	����L[DD	��'��0�1
����/	-����	)�.��	��B��	0����=��
A) \����-�	<�	)��]#�� B) ���B����W��	H��	)��]#��
C) ������̂ _R���	`�a D) <����	<�

12. B��0�	����?��	69���b�
����/	L>?.cX��	�������	0�����Y
A) ���d�� B) ,B�.%���
C) I�>�� D) e��.��-��I�

13. �.M
���	
��L
���	fG:��	B�$����I���	
�����	0���)��	�
A) 1948	����.>��	23 B) 1949	����.>��	23

C) 1948	����:�>��	22 D) 1949	����.>��	22

14. 4�
�.	B�!��[		E���)������/	E��G	���M����	���R		�������	0�����Y	
����	�
A) ,B�.%��� B) ��B�,B���
C) e��.��-��I� D) ���d��

15. 1934	 ����	 ��.����0�	 0����,��_	"�G?
����/	 0�120������	 ��
���)�g	 ��TX��	 0�g)�.)��;'
B�����Y����	
����	�
A) ���������	��B���� B) ����b�	�0�h�	��
C) ,
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17. AAT)����j	0����-�DD	����/	0�12X��	0����,	0��&�����	
����	�
A) 4����<��.��. B) -��'��I�	h�̂ ��
C) �5	45	�����0�g4�	��
���� D) 6)�W��.	"�. ����.��

18. 1857	����	#V�k����	�� ���	�����#	0�g)�.)��;'	0�.�����������/	������/ �X�������
A) >B����R��	<� II B) ��Kk�g	�B�W������
C) I����.	B�,�)�	���B��� D) ��l�L[	��j

19. AE���)���	��mn�
�	0�.]��	��0�?�D	J.���	
���	0�1�������/	����
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A) h� �����	I�'.�� B) 6![0�	I�'.��
C) 0k)�	�.M
���	I�'.�� D) 4,
�	I�'.��

22. E���)���	I�B�'��<�	0�.<���&���	0�.0�1
����/	
�����	0�120���3�)��	�
A) 1965 B) 1969

C) 1975 D) 1974

23. ������#���������	T.���0�=��	 X:���	�4��� �	����/	
���	���<���	 )�.����	 0�B��������._��
0�120���3�)��	�
A) �.���. � B) ����'
C) ,���?L D) �������

24. 4#����.M	0������.	����/	�� �X��	0����,	0��&�������%��R	��
���	
����	�
A) �
�'.��� B) 9�Y:.2	0�g4�����
C) "�.M)�	�����"�o�� D) ��������	������	�������
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������	
����	�
A) ��������,. B) >0���Q8
C) 4����	I�3� D) 0������0����

27. ���d����	6Og��
���		���B�E���)������/	*)������	���"�����	A��,W�����D	���	E���.)��X�������	
����	�
A) 4����	0�3�'���	�� B) H����	��0�
C) ��0�g.�� D) ����'b�	��0�

28. ��."�̂ 	I���!����	B�X���	J�������	
���	>Q8����	��Q�)�=��	�
A) ��"�̂ o B) ��."�̂
C) B���_ D) B�X���

29. 6&��L��	��L/0�����		X.����	��$Y���������/	B�9��+	I��	��_R�����	6Y����	
����	("�q�h�������	r-�)	�
A) 0�:\�	���h� B) 4���0�	4�
���K�[
C) ���G?��	�����G������ D) 0�����	4�
���K�[

30. �����#	I����	J����nL��	��q�G.��	���m��	U"�S��%X	E���)���	
���	��,'����
9������b�
����/		�� �0���3�)��	�
A) ������B�� B) ���,��)�
C) ������� D) I�.����

31. 9�$��P	��$��	����/	0�12X��	����?
A) 1997 B) 1996

C) 1998 D) 2000

32. E���)�	����n0�.]	��	��B�0�����	A���������Y	������D	]Y��S�._��	0�����R		���.����
0�.]Y��	
���̂ ���	�
A) ����F�#��	0�4�� B) h���? �?	I����
C) s�����	"�G? D) 0�g��-�	"�G?
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33. A�.!g��I�	
.��I���	D	t����b�
�	0�.0�1"���	
����	�
A) 9�.���<��V��	6-��� B) 0��E���	9�.���	I���0�
C) E���)�	X.�� D) ���B����W��	���d��

34. 1946 ����		�k��	��#E�
����/	6��.uX��	��4�����	
����	�
A) INS )���g�� B) INS ��-�"�^)�
C) INS ��Q4��� D) INS 4���

35. ��
���	0����	0����,�����/	
�����	0�120���3�)��	�
A) 1915 B) 1914 C) 1912 D) 1921

36. �����������		0����
�	B�������/	‘Right to Service’ 
�����	-����	)�����3�)��	�
A) 2012 ����.>��	1 B) 2013 ����:�>��	1
C) 2012 ����:�>��	12 D) 2013 ����.>��	12

37. E���)���	
���	��,'	�����v		"�����Q��	E�)�=	I���
��)�=��	�
A) 6.&��	"�����<� B) "�.-�I�
C) "�F+���	>.��# D) ����?Y��

38. ,���	��"�q�?�������	6h�	�.M
���	����V'	��
�?#
���̂ 	J����	�
A) ����.I�$ B) ���#�)�=
C) #V�k D) E�������<�g��

39. ��mn�
�	0����$��')�	_��	
���̂ ���	�
A) ����:�>��	31 B) ����.>��	19

C) ,�����	30 D) 6��0�:	 20

40. "��?���.��	0���0�'���	)����W		��(�)��������	B�Ow
����/	��)��=	"� ����	������/	������	B�Ow
�%
I���0����	S��,��
��	
���̂ ���	�
A) 0�.0���	6��<�?	�����K�	S��,��
B) ��mn�
�	0�g0�1;'	H���	S��,��
C) "��&���	���.��	������	X.9�
K�	S��,��
D) _���	��
���	U"�&�'
�	������	-��'��	S��,��
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41. 
���	
���
���		�������.���. ��	,#"�)�4��	�
A) ���#"�^o��. B) � ��!�
C) ����
���� � D) ��$
��� �

42. E���)���	�����#	0�.I����	"���C�?����	����'X
�.	J����	�
A) "�$����̂ B) ����oY:
C) ���*+ D) �����.C���M

43. ����������������	r��$��	��B���	9��0�#�	��������3������	0��������	����
A) "�
�'.>#. B) ��"�o �
C) "������� D) ����,2o#.�� �

44. �������	��,'	���T��	6S������	�����#	�&�'��(		
����	�
A) ,
�.�	"���/
��� B) ,X:0�	F�����4
C) ����0����G: D) 0����)��������

45. <�>R�����/	J��!n����	0��9�������%	>����3�0����	0�&���	�
A) ���$�����h�q��� B) 6.2�h�$
���
C) ���$�����*"�[ D) Xo�����

46. M\=��
�	����/	��. ��TM
�#�	��� ����	"�����(
A)  ���	"�����( B) ��$ ���	"�����(
C) X+��	"�����( D) �FB���	"�����(

47. 0��
�?0�=�������	��.)�����̂ 	��)�����Q����		<�V�����/	L��?T0�#�	����Q������		�
A) 0�.��B��� B) ��B���
C) 0k��	4!��Q����� D) B�X���	�����	"��b����

48. 
���̂ ���	E�������	�L#	�
A) ,#,���� B) 6XW
�.
C) �� ��� D) 6����,����
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49. L0���?����		��	��M���	X�����	B�'����-���	
���̂ ���	�

A) �0�:G�� B) xS��M��

C) T��
�. D) -�����

50. J. ���0���y�����������	B�*+��	�.<�	
���̂ ���	�

A) 6��?����	0���y;$ � B) 6��?����	��������

C) 6��?����	��$������ D) 6��?����	h�0�y���

51. ��.��	��_
����/	
�����	��mn�
�	��_	J.���	����
���3�)��	�

A) 2006 ����.>��	8 B) 2008 ����.>��	8

C) 2008 ����.>��	4 D) 2006 ����.>��	4

52. B���/�� ����	"�.9���m?��	S��,��
��	
���	�.<���	�� ���	f)��=	L�M)��	�

A) 0��X1��	�u��7_z

B) > �)���	L����?#��

C) �������	0�."����W#	�u��7_z

D) ��Z�?������		�u��7_z

53. "��F��:		����?������	fO���%	����%��	
���	��,'������		4<����	���.��
����/	���4�0����.)�	0�.4&���

�� �P
���%	B��O��	�

A) ������� B) U)�=��	"�����<�

C) ���&�'"�����<� D) B��
�Q

54. 2011 ��	,����Q�
�	"������	E���)�������	,��0�.Z�'
�	I�����j��
��	"���<�)������:		�

A) 17.46% B) 21.54%

C) 21.45% D) 17.64%
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55. ���,�����	!0���	<�!=	0�.]Y��	9�Y���G����O.��%	��,0�1������		B����	>.��	��������	�

A) ���B���	0�.����(b�	��S�R

B) ���T�	"� �
����	B�!���	��S�R

C) % �	��$4&�')�
����/	���)��=	��$)���	B�������/	��"� ����	��S�R

D) ������!(b�	L����?#��	��S�R

56. 
���	_g�"���	��_
��	%Q?	U"���_
����/	B��._��	�

A) ��������� B) ���B���_

C) ������ D) )�2=

57. ��7B�	T.0�3�.��	���T��
������/	��"� �#�	��S�R
����/	
�����	-����	)�����3�)��	�

A) 2005 ����:�>��	26

B) 2009 ����.>��	26

C) 2006 ����:�>��	26

D) 2004 ����.>��	26

58. L��	6S������	U"�&�'��(���	
����	�

A) ���4.��	"������
� B) ���4.��	0��>����Q'.

C) �
)�	�������� D) �4�)�I�	��.)�

59. ��X�.��	0�o&�?
���		�S��	f#.2��[����		"�����	����R�����	
����	�

A) _�"�	������� B) _�"�	�����?����

C) 25	45	X.&�� D) 0�!(	�������

60. A0�g��-�D	"�̂ 0�=����	���V�����	
����	�

A) E���)�	X.�� B) ���4.��	���
�����

C) I�#	��.��&���	�#�� D) <�F	)������
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61. They had a chat ____________ a cup of tea.
A) with B) over C) by D) to

62. If he had informed me about the price hike, ____________
A) I had bought some in advance
B) I’ll buy some in advance
C) I would have bought some in advance
D) I bought some in advance

63. ‘Pilgrims come here, but few stay over night’ implies that
A) All pilgrims stay over night B) Some pilgrims stay over night
C) No pilgrims come here D) No pilgrims stay over night

64. I haven’t seen her ____________ the last thirty years.
A) for B) since C) to D) on

65. The past form of the verb ‘stride’ is
A) strided B) strode C) stridden D) stride

66. Let’s submit the projects on time, ____________ ?
A) do we ? B) should we ? C) shouldn’t we ? D) shall we

67. The students ____________ some money for their future purposes.
A) put aside B) put away C) put off D) put down

68. Alice prefers coffee ____________ tea.
A) than B) by C) to D) of

69. Find out the sentence in which an inchoative verb is used
A) The old woman is going to the town.
B) The old woman is watching T.V.
C) The old woman is searching for her spectacles.
D) The old woman is getting weaker.

70. A person who hates woman is called a
A) misogynist B) misogamist C) misanthropist D) migrant
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71. Which is the singular word among the followings ?
A) bacteria B) strata C) larva D) criteria

72. The word synonymous with ‘conceal’ is
A) delirious B) deliquesce C) delineate D) delitescence

73. The youngone of a horse is called ____________
A) fawn B) foal C) calf D) squab

74. ____________ lion is the king of the forest.
A) a B) an C) the D) none of these

75. The antonym of the word ‘oblivion’ is
A) memory B) forgetfulness C) obligation D) omission

76. ‘Birds of the same feather flock together’ – means
A) Birds of the same type fly together
B) Birds of the same colour go together
C) People of the same sort are found together
D) None of these

77. The Prime-Minister _____________ tomorrow to inaugurate the function.
A) arrives B) arrive C) arrived D) had arrived

78. ‘The wood cutter chopped down the tall tree’. Begin the sentence with ‘The tall tree.’
A) The tall tree had chopped down by the wood cutter
B) The tall tree had been chopped down by the wood cutter
C) The tall tree was chopped down by the wood cutter
D) The tall tree chopped down the wood cutter

79. Which is the correctly spelt word ?
A) Sunami B) Tsunami C) Zunami D) Zunamy

80. The idiomatic expression ‘head over heels’ means
A) intelligent B) nonsense C) proud D) excited
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81. f.���	0�.Z�'
����/		17 ��	>�����	11	�.��	E�%0���3�)��.	#uX��	E���#>z��̂ 	15	���)��=	UO��
0�.Z�'	5	6%)��=.	B�������	����#	E���#>z�����:		�
A) 15 B) 11 C) 10 D) 17

82. 690	���.	��O��	��'!=S�>d	J�� ��	 ���*?�������/	V��_X��.	f.�����/	 10%	����:���	������	���)��=
����/.�����/	17%	��E����	������.	f.���	�����	J�� ��	���*?�������/	0����������	I�����	������R��
����:		)�.��	���*?
�	I���	J���:		�
A) 345 B) 400 C) 300 D) 390

83. f.���	0�.Z�'
�	75%	���)��=	45%	��	��')�'0�	2700	6%��,	6	0�.Z�'
����/	��. ��TM3��.

A) 5400 B) 9000 C) 10000 D) 8400

84.

91.02

02.22.0
2

2

×
−

+
 = ?

A) 2 B) 1 C) 0 D) –1

85. f.���	���)�=�����/	I�'.!����		B�����%��,	���		0�.
����=	>MP
����/	����?���	��!�0��)�=��	���)��=	����
�������	����?������		���"�o��:%��.	{	���)�=��̂ 	J.Y�	"���:��#�	J���:	����?�������)�=��	�
A) 8 B) 9 C) 12 D) 6

86. J�� ��	0�.Z�'����	���)�=��̂ 	 50	6%��	���)��=	{	0�.Z�'����	��')�'0���̂ 	 5	6%��,	{	J�� ��	0�.Z�'����
����"�)���^	J��:%��	�
A) 10	:	1 B) 11	:	9 C) 8	:	9 D) 6	:	4

87. f.���	��$#�	A	-���_.��	I�O��@		5.30���	B����G)��	���)��=	B	-��������/	I�O��@	 	9.30	���	)�#�2)��.
���)��=.���	��$#�	B	�.��	I�O��@	7.30	���	B����G)��	���)��=	A	-������	I�O��@	11.30	���	)�#�2)��.	B�������
{	J�� ��	��$#������	
���	0����
����	f.�����/.�����/	B����	B������)�=��	�
A) 8.30 am B) 9.00 am C) 8.45 am D) 9.45 am
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88. "�q��?���	f>d	��'!=	 8	km	"��
�jX�����,	>#���	����%	 12 km	"��
�jX�����	���)�=	>#���

����%	17 km	"��
�jX�����.	B�������	������	6��.E�	H.���4L.��	fY�:		J���:		!4��	�����

"��
�jX�����	�

A) 13 B) 15 C) 17 D) 19

89. I�>�	������>d���	f.���	��#0������/	25	_��������		��� ��)�=��.	�����/�	��,��	������	��� �#�

40	_�������	TM
��)�=��.	I�>�	f>d���	{	��#0������/	10	_�������	���M	UO��	��#0������/	��,��

������	f2oX�����.	B�������	{	��#0������/	"�q�?���O0�#�	��,��	������	J���:	 	_�������

TM
��)�=��	�

A) 30 B) 15 C) 24 D) 26

90. f.���	���Y�.>���������	7	��������	0���0��	��
�0��[	 9	6%��.	B�)�=����	��
�0�[���/	���M����

0���0��
��	29	63�)��.	)�.��
�	��
�0��[	 6	���)��=	)�3�
�	��
�X[%.)�	J�� ��	"�Y�:		B�9��+	.

B�������	)�3�
�	��
�0�[���:		�

A) 64 B) 63 C) 74 D) 68

91. x1x 55 −+  = 2500. X	����/	��. ��TM3��	�

A) 16 B) 3 C) 5 D) 4

92. f.���	J)�=����	J�� ��	X�. �������	��,'����	����"�)�	2	:	3	6%��.	���̂ ����	��#�'��K�����	�� ��4��

��')�'0�	J���:		�

A) 4	:	9 B) 4	:	6 C) 4	:	3 D) 1	:	3

93. {	����%��	0���j��	f��"� ���	0�.Z�'
����/	�������X.

4,	5,	12,	39,	160,	804,	4836

A) 39 B) 160 C) 804 D) 4836
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94. 7,	10,	3	��	�.����j)���	"�����
���		(arithmetic progression)	25	0�.Z�'����	���)�=��̂
3,	6,	9	��	�.����j)���	"�����
�����	(arithmetic progression)	25	0�.Z�'����	���)�=!�.)�
J���:		B�9�+%���)�=��	�
A) 75 B) 195 C) 100 D) 125

95. ���.2��	0������R���/	��. ��TM3��.

A) ���.>����3� B) I�L��0�	(Benincasa)

C) 0k)���3� D) I�. ���3�

96. ��M
�������		0����
���̂ 	4.45	6%��R��,	��.��
�	����Ow���	���)��=	L4�����	����Ow���	�� ����	6%�����
������	J���:		�
A) 150° B) 117° C) 117½° D) 127½°

97. ,�����	1,	2000	��̂ 	<�L������%��R��,	2001��	,�����	1	
���	_��	6%���)�=��	�
A) 0���������� B) E�������� C) <�L���� D) <���������

98. x + y = 8	���)��=	xy = 15	B�������	x – y	J���:		�
A) 23 B) 7 C) 2 D) 3.5

99. ��M
�����̂ 	 )����0����	0����
�	 12.10	6%��R��,	 ����/M
���	 	�����	H.>	)����0����	 0����
�
J���:		�
A) 10.12 B) 10.10

C) 11.50 D) 11.10

100. f.���	L_?��:		���� �	����0���	‘‘BELIEF’’	����/��	"��������/	‘‘AFKKDI’’	J.���	>��
������)�=��.
����	���� ����/	U"�S��%X	‘‘SELDOM’’	����/	B����	>��
������)�=��	�
A) RDKCNL B) TFKENP

C) RFKENM D) RFKFNP

_______________
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Space for Rough Work


